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Or perhaps leading is superior, etc. — 991D OITY AT RADT N

OVERVIEW
The &7 is explaining the query of »xmw (by '»m11 Dpna 2191) concerning
3°773m1 2137; which is the superior 7°1p that nullifies the other.

nvoIn asks:
— 2199 DIPNA NNP NPNINT PHINNN VIVALT NN

It is astounding! For let the X713 resolve this query from our mwm», that

A97a% is 7123 in the presence of 2129, for in our mwn it clearly states that if one was
2137 and one was 2’7711, the 371n receives half; indicating that it is 2137 23pn2 AP -
— 1Y PNMT )V Y 2199393 197392 299N 2999 IN)

And (even) if 2129 in the 71w» means that he was leading it with his feet,

then certainly »°71% is superior to a 2129 who is not 172372 271 -
— 151915 2199 D703 19 Y3 537 19393 1N 2199 DYPNA I9ONT

For if »73n is 2999 21p1»3 71197 even when the 2137 is 199392 2731 then 77 is
certainly’ 7197 where it is merely 2157 alone!

N1B0IN answers:
— 2199 DY 113 53P7 N¥3INY PR MIYNA 13T UMY Y

And one can say; that there is no proof from our 7w» that »71% is 7199
2109 2P%2 (even when the 2107 is not 17372 X°71n).

mooIn anticipates the obvious question; if 37111 is not 2137 2Pn2 AP, so why does the
mwn rule 19m in a case of 3711 'R 2917 'R? MdOIN explains:

— SoI0 99991 23D NY 199N
For even if we assume that »71» is not 2107 2pn2 139, nevertheless the

! See following 7>7m> 2191 71"7 MmvoN.

2 The x> later on this Ty will explain that when the miwn states 217 it means 1°2372 732 2197 (and
therefore we cannot prove that 2137 alone [when he is not 19372 »7n) is 7 23pn2 ANP [and not even that
2107 alone is 7P even X°7an DR XoW]).

3 If the 2197 is not 19312 7, then only the 2 will be AnP; as opposed to 12372 A 2137, where both
the 2137 and the 271» are 1P as stated in our 7wn.

* Hxmw taught that by »71a Dpna 2197 only one is 7P, Our 7awn teaches that by 373 2197 both are 71
(half). We understand why the 2137 is 7177 because he is 1°2372 273 (so this is not the 217 that 2X1mw was
referring to). However, how can the 311 be 2137 opna anp (if 2R meant that by 3731 2197 the 2 is
not 71112)?! This (seemingly) forces us to assume that it is the 27711 who is 2127 23pn1a AP.

> p1mn means he is in possession of the item. The ruling of 12121 in our 73w is based on the NPIMM of each
party; not exclusively on a 1"1p Awyn (of 72°wn or 772x37). We will have to assume (according to m»oin) that
the 371 was originally nnp through a proper 71 7wyn, and his 73737 now is not necessarily a valid 7Ip
(since it is 2127 O1p12) but it gives him a 1 status.
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2’7111 1s considered a P32 in this animal -
— 2199 DIPNAIDION PINM 9P %P 2199 DIPNA XOW NYTIND MNINT 11T

for since x»7» alone, when it is not together with 23129, is 7272, therefore
the 3717 is considered a prm» even together with 219-.°

mMooIN responds to an anticipated question:’
— PININ NIPY INNN 9’)? YINT 21997 PNINNHN V°9Y NI 81):?7 011 Y99

But nevertheless the X713 later correctly proves that 3129 alone (not in

conjunction with 3°71n) is 7112 since the 2137 is considered a Prmn (for we

award the 2157 his share on the animal) -
— %1 XY 9123 PN ITIONT NIN NIAD 537 XY NONHNY 199N SNT

For if 2107, even when it is alone, is not ;731p, it is then logical that 2157 will
not be considered a pPrmn.

mooIn pursues this idea that one can be a prm» in a specific situation even though his
mMpimn in this situation will not be 71p, as long as there exists a situation where this
mprmn will be anp.
— PININ DOIY NN NN NPT 90y5 19
And similarly previously where the X713 asks, ‘can you derive it from
this ruling of I9TMR 291’5 but that cannot be, for there -
— 939 NY 17230V DY YaN NONNAIN NI N IND
‘This one claims I picked it up entirely, but if two picked it up together
they are not /2% (since it is possible that 1°an 73p X2 yPan? axexn 2nn) . This

concludes the X713, MdOIN continues with his proof -
— PIMN 9PN NP KD DIDIDN DNNY DAY DT 2) DY 9N ) 0NN

There too we see the same idea that even though as they are holding it
now they are not 7239 (since we are assuming that 71p X% 17202 R°8? 72017

17°21), nevertheless they are both considered 25217 (for we award them each

half the n°%v). The reason is that -
— NP NN NYN 183 DIN 192N NN RY ITIN AYMIND NI NN ONT 15

® There is therefore no proof from the 73wn that »7n is 2127 2PN AP, since our 7awn rules P2 on
account of NPT but not (necessarily) because of the 1ipn nwyn.

7 The x7m3 later attempted to prove the »7n Dpna 2137 is 7P from the same case of »7m 2137, According
to M2OIN previous answer, there is no proof that 2137 is 2711 DPn2 AP, for it is possible that the 71wy rules
1212 (by 2127 'K 20731 'R) because the 2157 is a prmn; just as MvoN explained concerning 3.

¥ mooin is referring to the Xn3 on this Ty which begins 121 172911 221w 71 *2°n". The proof is from the X2°0
(see 1 "7 MO # 5), which states P12 27 'R 2011 'R; indicating that (7°79) 2197 is (certainly) 3.

? See “Thinking it over’ # 1.

10 Since we see that 137 is considered a prmn (for we award him half the animal), it follows that there must
be an instance where 2137 is 1P (namely by 710 2137).

" On X,1 the X3 attempted to prove 17°21 717 1207 7X°%A 7°237 from the case of PrmR 02w,
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Since if he would have picked up the n°>v alone, when his friend would
not be holding the second side, he would be %7217 -

— 19530 OY 1IN PN 9PN TaY
Therefore he is considered a P1m% even when he is holding it with his
friend (where there can be no 71p).

mooIn replies to an anticipated question:
— 1T OIPNA NTONNIY NP XPNINI 21997 NYIINY PR NIYDM

However we cannot prove from the X230 of our mwn that both 2129 and

asman are M even if the 3°7721 2107 were done in conjunction for seemingly

we could prove it from that -
— PN DTN DNIY PN ON NINPT

Which the 71wn teaches; if they both admitted, they divide (the n%v or) the
animal. This proves that if they admit that together they were 311121 2211 they are 7P —

mooIn explains that this is no proof:
— )N3N2 N N2392 NT TN NN NP TaY OYHIN 0NNV PNT

For they do not both agree that they acquired it together in this manner

as they come before us; this one riding and this one leading -
$INN 12393 IN NININA DNNIY NIN

But rather they admit that they both acquired it together through 73737 or
another 771p.

SUMMARY

A prmmin 1s one who is holding it in a manner that he could acquire it when he
1s holding it in this manner alone, even though in this present state (when it
is coupled with another entity) it will not be 71p.

THINKING IT OVER

1. mooIn states' that the X3 derives from our m1wn that " A9 2107,
Seemingly the X773 proves from our 71w» that 2127 is 7P even 2’712 Q1PN2
and not only by 771177 217!

2. Is it possible to be considered a p1mn, even if this MPTMA 1s never HJWP?M

12 See X"wAn that MdON is referring to a case where he is picking up the entire n*>v and nothing is lying on
the ground.

13 See footnote # 9.

' See X" on K17 2197 77 Moo and Xn MK ",
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